.5,

Fixed asset have to be depreciated by 10% and the branch manager is
entitled to a commission of 5% on the profit offer charging such commission
of the Branch (on invoice price basis) you are requested to.

(i) 3T A BT AU B, F URRAfcld HIAT & TAT FHAT HDE D 5 AT
T SATYR FAT AT ST QT I 81 {ii) RG] BT SR UG A7 ST @i
SIER F F9T 2 3R 9Ta & dAUe Pl wud § uRafd e E |

3re@r / OR

ATSIETRY T IR PR 5U ST TPHT P TS | AT el Dl TR

qTaET B W@I/Define partnership and explain it's nature. Define

partnesship document and it's essential elements. Explain main provisions
which impact the Accounting practices of partners. 243+2+4+3

T UG PO 2: 1 H AHER &1 J 39 FIAI Pl 1 JUT 2009 PF AGHS

forfes ot o < &1 99 fafyr @ S99 fag /= v en-

Radha and Krishan are partnerin 2:1. They sold their business to Radha
Krishan Limited on 1 April 2009. On that day their balance sheet are as follows-

Creditors 15,000 Machinery 16,000
Bill Payahle 5,000 Furniture 7,000
Investment 15,000
Radha 50,000 Stock 19,000
Krichna 30,000 Dehbtors 36 000
{ash at Bank 7,000

1,00,000 1,00,000

T FRT Ahe Td fAfENT &7 SRiehR fohaT T | = Feafor ve grféeg fonet

I F = A 131 / Com pany rejected the proposol of cash and Investment
other assets and liabilities are take on following prices.

Goodwill 21,000 Debtors 30,000
Machiory 14,000 Creditors 13,500
Furniture 6,000 Bills Payable 4,500

Stock 20,000
T BRI IR 3 5 2,500 FIT o TR | e 2% PITg T T JTR

%H BT qFTD q=5 DHIFATI/ Company expenses 2,500 Rs. for recovery

expenses. Do journal entries, prepare account and close the Books.
Jear / OR

FAEIP STALTRON T GRURTSH ] [AFTR F TS |

Explain accounting concepts and conventions in detail

{iv)

Q.Paper Code : BCOMD101
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B.COM. FIRST YEAR
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TIME : 3.00 Hours MM : 70
Note : Attempt all questions. Each question carries equal marks.

e : wft e g Hifg ) wsft gl & i @ E )

7.1, Fre=ifda Raxer & 31 A1 2010 3t T ¢ F o any-a1f G a9 |

Made a Profit & Loss Account for the year Ending 31 March 2010 from
following statement.

HqdaT AT {Gross Profit) 1,50,000%.
TS & {Commericial Expenses) 500
S (Donation) 100
fafae == (Sundry Expenses) 160
3RS 6 (Audit Fee) 1,000
fmn (Rent) 2,000
P &7 (Legal Expenses) 500
I U9 X (Rates and Taxes) 3,000
TP U9 IR (Postage & Telegram) 100
PraTAg 399 (Office Salaries) 5,000
TS 91T {Carriage Outward) 500
Zad k0T (Bad Debts) 2,000
uTH P9 (Commission Received) 500
TP19 =Y (Lighiting) 1,000
&ar mar 93 (Discount Allowed) 700
a1 =ra(Selling Expenses) 500
arH 99 (Discount Received) 800
0T IR 1 {Intrest on Loan) 2000
fafae wfiRY (Sundry Creditors) 500
IS & (Unproductive Expenses) 1,500

(i) $Y93./PT.0.



.2

g o9 (Travelling Expenses)

At / OR
TSI S0 1 TSI UF YStRIa W a STaTe WfH Ug YSiTd O Ug SO
g § =) qq15T | /Explain capital expenditure and differentiate

between capital receipts and revenue rceipts and capital expenditure
and revenue expenditure. 2+6+6=14

T AP 4 PT T A GRTUI /Give salient features of AS-4.
Jre@r / OR

31912 2009 P TP U H T IH H 1270 T, SRe 99 o e Javs a8t

o e P R Fr=faiad sFaR o -

(i) ¥ 5 TIE S 9 T AP DT BUAT § Pl AH TEI §3M 200 9.

(i) SFTERT foer &t 11 U g | forar I Aws a2+ T fegman 60 9.

3,000

(iii) 3rf&fepd = ¥ 3 v Ty St A qa § T2 fora 300 9.
(iv) Frifoa 9 9% 5 Sufeer 781 g0 830 .
{v) % 3 RIFRTT o9 1= =31 e 6 S o g |

T ue=g s 981 H TE 300 9.
(vi) TIPS T8 F AR o srferfaad 2840 3,

o TG AT A1 (A) U I DT AT

On March 31, 2009 their are 1270 Rs. debit remains in a Pass Book.

Their are some differences when we compare this from Cash Book -

(i} Bank could not collect the amount of cheque sent for collection 200Rs.

(ii) Amount of dishonoured bill showed in the Pass Book but
notin Cash Book

{iii) Intrest charge on overdraft by the Bank which was recorded

60 Rs.

by Cash Book 300Rs.
{iv)Issued cheque but not presented before the Bank 830 Rs.
{(v) Bank received intrest on our Investment which was

recorded in the Pass Book but not in Cash Bock 300Rs.
{vi) Bank overdraft as per Cash Book 2840Rs.

Made a Bank reconcilation statement (A) By taking Balance as per Pass Book.

7.3 Tt B g St ey  fea A gfg s A B A E, T

YT B ATTLTHAT T & Td ST & Jedie i fafei 1 gared 1/ Define

(i)

9. 4,

Good will. Which are the factores who increases the value of Good and whywe need
valuation for this and mention methodsfor evluation of Goodwill. 2+42+2+48=14

arergT / OR
et foaal 4 SegR e 21RET o) A FHHIET AR .25 TR e Sk el

| T G W PieTd FIRT SRRy I 8] e 771 TR 8- / There are Branchin
Jodhpur of Tip-Top's Company Delhi. Material is to send to Branchin addition of
25%in cost. All the expenses is paid by main office. Statement are as follows-

Opening Balance Rs. Rs.
Stock 5000 Goods returned by Debtors 500
Debtors 1300 Discount allowed 600
Stock Reserve 1000 Branch Expenses 6,500

Goods sent to Branch 90000
GoodsretumedbyBranch 3000 Closing Balance
Cash sales 70000 Stock 12,000

Credit Sales 70000 Debtors 5700
3T HET P TeTa i JRTeni 3 SN2 @l TP Ud SR Yy | o o= £
WIS cqaersa for. fowatt it ~gam® aran = 31 =R 2009 o F=faRea

‘lEl |3 “”_ RS. RS,
Fixed Assets 12,000
Stock lstlan. 2009 5,600
Goods from H.O. 312,000
Sales 42,000
Expenses 2,500
Debtors & Creditors 2,400
Cash at Bank 600
Head O ffice ac 11,400
56,100 56,100
In the Head office Books the Branch Account stood as under-
To balance c/d 4,05,000 By Cash 14,38,000
To Goods sentto Branch 14,63,000 By Balance ¢/d 4,30,000
18,68,000

Goods are invoiced to the Branch at cost plus 10% and the Branch has
instructed to sell at Invioce price plus 25% fixed assets were acquired on 31"

January 2009, whom $=1 Rs 38 rates off exchanges were.

1% Janauary 2009 $1=Rs. 46
31" December2009  § 1 = Rs. 48
Average $1= Rs. 47

(iii) .93, / PT.0.



3191/ OR
At o3 F Ry fom) fafg o= & smags T 7 €7

Define bill of exchange? What are the essential elements of bill of
exchange?

SUHIeRTT TReT A 1986 $F g RISk Fa1ga |

Explain the main features of Consumer protection Act. 1986.
3191/ OR
AR 1 87 ARIER] Jd T quE FH|

What is Partnership? Explain partnership deed.

Iued] & fafts ifereRi &1 aufF w0

Describe the various rights of consumer.
31erEr/ OR
icuoft FRI-

Write short note-

(i} TP BT IE@H / Crossing of Cheque

(i) fo=mn w9 399 / Hire Purchase Agreement
(iii) TSN HI fdere / Dissolution of Partnership
(iv) TF BT IR / Dishonour of Cheque

*ee

(i)

103
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Attempt all questions. Each question carries equal marks.

: gt we T gor Hifog 1 adt uel & 3@ gET F)

"'Te 3N Sl NI SRT Tl 21 SrfeY dearil &' | U6 T ey &
LT Tl D] TS|

"An agreement enforciable by Law is a contract”. Explain essential
factors of a legal contract.

31erEr/ OR

TG F 31T ] THEA 8¢ TG D AL DT 2] |
What do you mean by Offer? Explain the features of offer.

] e atfarfem 1930 &t et &1 auf )
Describe the features of Sale of Goods Act. 1930.

31e1d1/ OR

Ied fageT | 31U F47 A9 €7 39 SNSRI BT aufe |
What do you mean by Unpaid seller? Describe it's rights?

femgoft -
Write short note-

(i) faffsa a3 / Bills of exchange
(i) A (9RTST) 97 / Promissory Note

(i) $Y93./PT.0.
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Note : Attempt any five questions. Each question carries equal marks.

e : DI v v gor HIg | asft uEl & siw quE F

U 1. #ft g9eam SRaSlt A T T 2008-09 & fov fafyy @A 9 w-ang
M 4,90,000 3. offl 39 9@y F folv 961 9RA § N FEF 9 9=
62,000 @. oft| ax faRo g 2009-10 & faw SFHT IR T 3T

$Hifve afe 3 F =¥ 997 uFHR g - / Taxable income of Shri
Ghanshyamiji Das was Rs. 4,90,000 from different sources during the
previous year 2008-09. His income from agriculture operations in
India for the period was Rs. 62,000. Compute his tax liability for the
Assessment year 2009-10 if the rate of income tax were as given

below-

TR UM 3R/ Taxable Income IR H WR/Rate of Tax
TR 1,50,000 T, &/0On First Rs. 1,50,000 /Nl

3T 1,50,000 %, T@/0n Next Rs. 1,50,000 10%

3Tl 2,00,000 B, TH/0On Next Rs. 2,00,000 20%

I 3T W / On Balance 30%

forem SuaR P <7 IR B 3 WA F a1 TR & A P 9 | -
ZTReg g9Ifdd &R 1/ Education cess is 3% on total tax liability state
whether the agricultural income effects the tax liability?

are@r / OR
W oo AT 1962 & S i | ofT F7 e €9

(i) $.9%9./PT.0.



Q. 2.

T SRIOT IRAT SRT AT R w31 1w et |t AFE 99 (CIF
Price) 22,500 3MRH SR &1 WST 4800 3MRH STOR To 191 A
600 SRS STER 1 W9 9T & TR I &l a3y o IRedtT Rord §a
faf ¥ =R (Floor rate) 1 3MRE TR = 48.80 ©. =it T2 a1 R eI
R 48.75 @. 2ft | AT Yob P T8I | VAW I g I Hifww)

A consignment is inported by air. CIF price is US $§ 22,500, Freight is US
$ 4800 and insurance cost is US § 600. On the date of presentation of
bill of entry. RBI Floor rate was US § 1=Rs. 48.80 and rate notified by the
board was Rs. 48.75 find out the value of the consignment for
customspurposes.

areEr / OR
AR R IOt & ITAR TR BT 0T FATA |

Explain the classification of Taxes according to Indian Tax System.

o fama o= afafem 1956 & Seeal W fadeen &1 auf Hifvo)
Explain the objectives & importance of CST Act 1956.
afe@T / OR

QTN el uiafda aR AT 2003 & AR aref-ave | oy @
TSR 87 AR

What do you mean by Penalties under RVAT 2003. Explain.

Explain the partly Agricultural Income {Any three)
e / OR
RIS IR & SR 716 B PI-R5 B TH7=R|

Explain purchase and sale of Goods in the course of Inter-state Trade
or commerce.

(i}

Q. 5.

T fapa B Afafam 1956 & aafa B F GIF W QY aF
faRau)

Write a short essay on collection of Tax under CST Act. 1956.
aerdr / OR

Tférg feforr fRau- / Write short notes on following-

(i} A1/ Goods

(ii) M W v TS AT H AR

Difference between imported goods and coastal goods
(i} smaa/Iimport
(iv) frafa/Eexport

+00

(i)
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fde : 5= gfg geaf & S @) gt weaf & s wuE &)

Note : Attempt any five questions. Each question carries equal marks.

7. 1. /=1 991 | A1, Afeder g ggerp T e |

Calculate mean, median and mode from following data-

Class F
100-200 - 4
200-300 - 6
300-400 - 10
400-500 - 4
500-600 - 2
arEr/ OrR
Fict GirdT F1 R o T &)

Calculate Coefficient of Skewness of Karl Pearson.

Class 0-10 10-20 20-30 30-40 40-50

F ) 3 2 4 1
T. 2. YEIT faere 6 T @) / Calculate Standerd Deviation.
X 15 25 35 45 55 65 70
F 2 3 ) 4 6 ) 5
Y4t/ OR

IR F71 £7 39D T 9 UBR F ST 87

What is Range? How it will be calculated?

(i) $Y93./PT.0.



T. 3. 9 fJaeH aftad J AT B | 3121/ OR

Calculate Mean Deviation from Median. FIe T & 98 T EUTIEB T T TR
CLASS F
Calculate coefficient of Co-relation of Karl Pearson.
0-10 15
X Y
10-20 12 45 35
20-30 18 20 20
30-40 14 65 70
40-50 13 30 40
50-60 10 90 o5
60-70 8 40 40
70-80 7 50 60
80-90 5 75 20
S0-100 2 85 20
3T/ OR 60 50
FreT Aoft F7 §2 TG Aty & avf| @) 9. 5. 2 T TR T
What is Time Series? Describe its methods. Make out two Regression Equation.
. 4. TR &1 gEoi® I a0 r=.8

Calculaate Fisher index. ox=3 2 4

X = 50 Y = 70

Quantity
Pricein1920 | Pricein199l | 1900 | 1991 37erdT/ OR

A b 2 70 20 qe famrem i @ area P ToET B
B 18 28 60 250

Calculate mean from Step Deviation method.
C » 20 500 150

Class 10-20 20-30 30-40 40-50 50-60 60-70
D 14 15 400 50

F 10 15 18 12 14 13
E 13 10 300 100
*ee

(i) (iii)



9. 4.

9. 5.

3erar/ OR

THIHR B TR HFAC v THH fAand gaqrsd| THfIeR § e
T et v Hrg Fafor st a9l

Define Monopoly and explain it's characteristics. Explain price and
output determination in Monopoly. 2+3+5+4=14

A @t gt HIfT Td @ & faftrsr g @ T

Define profit and explain different principle related to profit. 2+6x2=14
a4t /OR

1 W a7 feoquiar faRau—/Write short notes on-

(A) AMFT JoT U9 WK Jod § 3R]

7+7=14

Difference between general (normal) price and market price. 7

(B) Ustl, 3TH! RV vd HR| 1+3+3=7

Capital, it's characteristics and functions.
AT ¥ e B R Hifvw) 3R Aaant AN @9 % R0 G 569S
JuaTet B TS|

Define Law of Demand. Explain it's aassumption, reasons to implement

and exceptions of this Law. 2+2+5+5=14
a4t /OR

oy feoquiiar faRae-/Write short notes on- 7+7=14
(A) TSR 3y qAT s Heam|

National Income and Economic Welfare.
(B) IS T I AT 2raemRumg|

Different concept of National Income.

L XX

(i)
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Q. Paper Code ; BCOMD105

DISTANCE EDUCATION EXAMINATION - 2018
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MM : 70

it : |t wem g Hifo) 9l wel F i T &

Note : Attempt all questions. Each question carries equal marks.

o 1.

o 2.

. 3.

g Swfiar &9 Fam & g ot 87 a9 S 9w 59 ang e
& PR, {99 & TS G ATAIRN B T2 | / What do you mean

by law of Diminishing marginal utility? Explain assumptions of law,
reason for implementation, it's exception and criticism. 2+4+4+2+2=14

3721 a1/ OR
7F R org fevquitar fafaw—/Write short notes on-
(A) ST 9% Ug 3551 A9/ Indefference curve & it's characteristics
(B) T Ud 395 WHR (o & RN )/Demand and it's types {with diagram)
Sl & R 3 e 87 59 PN @ a9 8§, S BT e

@1 fa¥aR ¥ A9 / What do you mean by Law of Roturns. Mention
only it's types and explain Law of Diminishing Roturns.  2+2+10=14

39T/ OR
Ao F TaE fagrg # foear 9 993
Explain the Malthusian theory of Polulation in detail.
SR Fead P a9 Hifde | 396 qFaa, fFauan, eudei= @
DI S Bl H IR TG PIE STATH UG Pl Pl G|

7+7=14

Define production function. Explain it's assumption, characteristics,
difference between short term and long term production function.
Also explain Cobb Douglas production function. 2+2+2+2+6=14

(i) $Y93./PT.0.
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TIME : 3.00 Hours MM : 70

fdyr - |t e T Hifvg | asft wet & 3 T )

Note : Attempt all questions. Each question carries equal marks.

U.1. FEEEE g9 P IR FRI goic $ S22a7 g Hrei @ T |

Define Business Budget. Explain objectives & limitations of Budget.
3eqr /OR

goled & faASaTen B FHsnel| a9 & A9 g JE ot forEn

Explain the characteristics of Budgeting. Also explain advantages &
limitations of Budgeting.

9.2, SAEQANRNES GaigA P FHSA| ST gaiqga & fafse Regreai a1
GLEIED]

Explain Business forecasting. Also explain different principles of
Business forecasting.

3T / OR

= fagpar aripet A af 2009 & o fagpar &1 ST TS (KT @l

fafér s=1) / Find out the value of sales of year 2009 on the basis of
following data (by least squre method)

Year 2004 2005 2006 2007 2008
Sales 54 60 56 62 85
(In Lakhs)

(i) $Y93./PT.0.



. 3.

. 4,

Akl a9¢ | Y 7T 9N 7 R guic 9 dRefid avc § 3R
Tse FHIfT

What do you mean by Flexible Budget? Explain the difference between
Fixed & Flexible Budget.

39T/ OR

=T 3Tersl | T T=eXuTgoie @ 80 UfI9d d 100 ufded feanefiern &
TR TR AMER g99¢ JIR HIfT| 3mad 60 Ufded feansfiear & &R ®
o g i d -

From the following information prepare a flexible budget of Navya
Enterprises on 80% & 100% activity level. You are provided following
information on 60% activity level :-
{a) Production at 60% activity

{b) Material

{c) Labour {Direct)

{d) Other Direct expenses

{e) Factory over heads

{fy Administrative expenses

{g) Salary & Distributors expenses 25,000 Rs. {100% fixed)
{h} Sailing price 200 Rs.

W @M & oMy R w37 (RR, dWia g uRedadfie armat #
TS faeea garsd
What do you mean by Marginal Cost? Explain the main characteristics
of fixed marginal & variable cost.

312d1/ OR
ITEA fAvig @ oMy I wHEa £7 I H dbfcus glagnah & IuIm
& IR | FHIA|

What do you mean by Production Decisions? Explain the use of
alternative production facilities.

800 Unit

120 Rs. Per Unit

60 Rs. Per Unit

12 Rs. Per Unit

50,000 Rs. (50% fixed)
35,000 Rs. (30% fixed)

(i)

9. 5.

o/ W) feogult foman-

Write short note on following-

(a1) F9IR oMy fafer / Market Research Method

(@) e ool fafdr / Time Series Method
3erar/ OR

aaTe gatga ot fftsr fAftet 31 a9

Explain different methods of Business forecasting.
1 22

(iii}



